Exercice 7

a. 5+3/10+ 8/100 + 4/1 000 =5,384
b. 5+4/10+ 3/1 000 + 8/100 = 5,483
c. 5+4/100+ 8/10 + 3/1 000 = 5,843
d. 5+8/1000+ 3/100 + 4/10 =5,438

Exercice 10

a. 15/10

b. 1500/100

c. 150/10
d. 1,5

Défi maths :

258/100

Partie entiere | , Partie décimale Fraction Nombre
décimale décimal
4 ) 58 458/100 4,58
2 ) 5 25/10 2,5
9 , 54 954/100 9,54
2 , 8 28/10 2,8
82 , 06 8206/100 82,06
0 , 42 42/100 0,42
Exercice 9
54/10=15,4 128/100 =1,28
1/10=0,1 11/100=0,11
128/10=12,8 1285/1 000 = 1,285
Exercice 11




